
1 56423

15
00

m
m

ASSEMBLY INSTRUCTION

Imported by Amart Furniture Pty Ltd, Qld, Brisbane Australia.
For any assistance with assembly or for missing parts please phone
Amart Furniture, Customer Service Free call 1800 351 084

CHANELLE KING BED
ITEM CODE 56423



PRE-ASSEMBLY PREPARATION 

Before you start:  
1. Choose a clean, level, spacious assembly area. Avoid hard surfaces that may 

damage the product 
2. Take care when lifting. Product should be assembled as near as possible to 

the point of use 
3. Ensure that you have all required contents for complete assembly 
4. Always read the assembly instructions carefully before beginning assembly. 
5. Keep all hardware parts and packaging out of reach of small children. 
6. Do not over tighten the screws and bolts as this may damage the threads 

2 56423

20



1

2b
4

4

5

7

3

5

6

2a
2b
3
4
5
6

1 pc

1 pc
2 pcs
2 pcs
6 pcs
13 pcs

a.  Bolt M6x35 b.  Bolt M6x60 c.  Bolt M8x25

e.  Spring washer f.  Allen key

1 pc

20 pcs 6 pcs 8 pcs

14 pcs

1 HEADBOAD PANEL 1 pc
HEADBOAD LEG RIGHT

1 pc

7

g.  Screw M4x30

20 pcs

6

6

6
6

6

d.  Flat washer

14 pcs
h. Adhesive felt pad
20x20x5

3 56423

2a

12 pcs

HEADBOAD LEG LEFT
FOOTBOARD
SIDE RAIL
MIDDLE RAIL
SUPPORT LEG
SLATS 1835mmx60mm



With two people carefully lay the Footboard on to a sheet or piece of
cardboard.
Attach adhesive felt pad     onto the legs.
With two people carefully stand the Footboard upright.

h

h

h

4 56423



a
e

d

f

1

56423

4

c

f

STEP 1: Tighten the headboard leg    ,    to headboard panel    with
bolts   , spring washer    and flat washer   .

2a 1

a e d

2b

STEP 2: Attach side rails    to headboard legs    ,   and footboad    by
interlocking the brackets on the siderail with the screws on the
headboard/footboard and then push down to lock in place.

4 2a 2b 3

2a

2b

4

3

2b

2a

5



b

f

7

5

6

7 4STEP 4: Affix the Stiffener slat     to the side rail     with screws     and
bolt      . 

g

a

7 5 6
b

STEP 3: Tighten the slats     and middle rail     to all support legs       with
bolt     . 

a

f

g

7

6 56423



IMPORTANT NOTE:
· Once the bed is positioned and the support legs are adjusted to touch floor, the slats can then
be laid down and secured before putting on the mattress.
· DO NOT push or pull the bed if there is a need for re-positioning as this may result in broken
support legs for the centre rail.

ASSEMBLY IS COMPLETE

564237



suitable

and sudden


